WELLAND GOULDSMITH SCHOOL
CLASS-II
MATHEMATICS WORKSHEET
CHAPTER-DIVISION

1. MENTAL MATHS:-

a)12+3=

b) 100 + 100=

c) 18 eggs are divided in 6 boxes. How many eggs are there in
each box ?

d) Divisor x quotient+ remainder=

e) The price of brand Ais 50 + 5 =
The price of brand Bis 48 + 4 =

Which brand is cheaper?

f) Any number divided by 1 gives the number itself.(True/False)

g) 76 + 3= Quotient - ,Remainder-




2. Divide :-

a)186+6 b)9045+5 <)840+2 d)79+7
e) 6489 + 8 f)7707 +7

3. Divide and check the answer:-

a) 520+ 5
b) 1234 +9
c) 97 + 8
d)51+6

4) Solve the word problems:-

a) The salary of a man of six months is Rs.9450. Find his
monthly salary.

b) In a question on division the divisor is 48, quotient is 7 and
remainder is 32. Find the dividend.

c) 675 grams of sweets were distributed among 9 children. How
much sweet was given to each child?

d) Susie's mom prepared 74 carrot sticks for breakfast. If the
carrots were served equally to 12 people, how many carrot
sticks were left uneaten?



